BANKING AND FINANCIAL MANAGEMENT

First Paper (Financial Management)

Ti1me allowed : Three hours Maximum Makes: 100
Pant:A (Compulsory) (Marks:20)
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Tl 9 9T IS T 6 SR 50 Wl 4 Sifeh TET I R ) WA %

FFETARE
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: Part - A (FIF1-30)
1. () - Whatis finance function ? forg = A FMIWAR ?
(i) What are intangible assets? 3Td TfELAIT ?
(iii) Name the methods of trend analysis. \ :
wafa faverao 1 fafker aasd |
Total Assets Rs. 1,10,000, Fixed’Assets Rs. 50,000, Capital Em-
ployed Rs. 90,000, there i§ no long-term investment. Calculate

current ratio. . .
et 1,10,000 . <) Gttt 50,000 %. faf-ifsi gsit 90,000

@(iv)

FaA
3., CreferTelT FTrRT =g, @ | SIcy, STFUT shi TTOF Hifra |

(v) Name two methods of preparing Cash Budget.

Ao TS TR Rt i Q foIferal e | o

What is Gross Working Capital ? el Frfeier Is TR ?
(vii) What do-you mean by receivables ? gt | 31T R WA © 2
(viii) Explainthe/meaning of lead Lme. wefter avafy < oref wHEAEA |

(x) Defihe dontribution. SEH % IR TS |

(x) \What'are bonus shares? SE TR ?
Part - B (%iFT-9)

9 wft 379 7o Q TN WA ?

What is meant by earning per share .
What is the cost of retained earning ? SR STt 1 [ T ?

What is cash flow statement? e yae faeru g ?

What is meant by capital structure ? Jsft ¥l 1 11 ST 2?2
The P/V ratio of Divya Ltd. is 50 percent and margin of safety is 40
rcent. The firm sold 500 units amounting Rs. 5,00,000 You are to

fit. | . |
cﬁa;m%%g gro-e;m—m ST 50 W &, T Ui 40 Hiv g, -
m’%msooms,oo,oooaﬁ,ﬁaﬁ%umlmmﬂ
A FAT el N | -

(vi)

O L U
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| Part - C (A11-%9) |
Discuss the tasks and responsibilities of a modermn Finance Manager.

T Yy om weues & wrl va <fal o foa=r &S |
. \ o

Eollowing are the ratio relating to the trading activities of Shashank
td:

Debtors velocity 3 months

Stock velocity .~ 8 months
Creditors velocity 2 months
Gross profit ratio 25 percent

Gross profit for the year ended 31st December, 2013 amounf tORs.
.4,00,000. Closing stock of the year is Rs. 10,000 above th€‘opening
+ stock. B/R amount to Rs. 25.000 and B/P to Rs. 10,000 "
" Galcualte: - :
@) Sales - (ii) Sundry debtors
(i) Closing stock  (iv) Sundry creditors, _
e Tefes =t e Rt & e, s etaan §-

SRR e 3 R (,

THY A | 8 TITE f
. F_R T | 2 AR

Hehel T SAJIE 25 gfaee

- 31 fegwat, 2013 1 THIE B S 96 ol Fehel T 4,00,000 T. 911 99
o1 SifaR ey WIS e /10,000 T. SAfys o1 9= faus 25,000
3. 991 <7 997 10,000 T FEM ' v
xS Anr .

(1) e (2) WEHI TER
©(3) AT (4) W SGR
" . The capitalstructure of Singhal Ltd. is as under :

2,000 6% ciebennlres of Rs. 100 each (first iésqe) 2,00,000 -~
1,000 7% debentures of Rs. 100 each (second issue) 1,00,000
2,0008% cumulative preference shares of Rs. 100 each 2,00,000
\4.000'equity shares of Rs 100 each ?88888
Retained earnings , o - 1,00,

The earning per share of the company 1n the past many years has
been Rs. 15, the shares of the company ar¢ sold in the mket at book
value. The Comparny’s tax rate is 50% and shareholder’s personal :
ax liability is 10% | |
?}fld out t]?e weighted average cost of capital.

fireet FAfiree @t ol §Ter! 76 YR 3~ .
100 %, T 3 2,000 6% - (¥R FAT) 2,00,000
1003, T 3 1,000 7% -7 (foefta Frer) 1,00,000
100 %, S ¥ 2,000 8% Herl AT ST 200,000
100 T. T 3 4,000 TAT ST 4,00,000
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AiTERa STt 1,00,000

T FE TuI A HN FI 9T oI o1 15 ©. §, IR H HEA! < U
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Following are the comparative Balance Sheets of R.K.S. Ltd. as on
3 !st March: '
Liabilities _ 31.3.2012 31.3.2013
Rs. Rs.
Share capital 10,00,000 | 11,00,000
Debentures 5,00,000 - 3,00,000
General reserve 2.00,000 2.,00,000
P& LA/ 1,10,000 1,90,000
Provision for Income Tax 40,000 1,10,000
Trade creditors 50,000 40,000
~ Provision for doubtful debts 20,000~ 30,000
B/P } 30,000 .- 24,000
‘ 19,50,000 " 19,94.000
- Assets -~ 31(3.2012 31.3.2013
Goodwill 50,000 40,000
Land and Building 4,20,000 6,60,000
Plant and machinery. 6,00,000 - ‘ 8,00,000
Closing stock 2.,50,000 - 2,10,000
Debtors 3,00,000 . 2,40,000
Cash 3,00,000 24,000
Preliminary €xpenses 30,000 20,000
X 19,50,000 19,94,000

Additioral information:

During the year a part of machinery costing Rs. 7,500 (ac-

o :

% cumulated depreciation thereon being Rs. 2,500) was sold

(ii) Divi dend of Rs. 1,00,000 was paid during the year ended
31.3.2013. _ . .

@i)  Income tax of Rs. 50,000 was paid during the year.

(iv) depreciation for the year 2012-13 was provided as follows:
Land and building Rs. 10,000, plant and machinery Rs.
50,000ed . |

Your are required to prepare. _ _

(i) A schedule of changes 1n working capital.

(i1) Statement showing the sources and application of fund as-
suming provision for taxation and proposed dividend as

non-current liability.
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RK.S. fafires ¥ 31 e ®l qorior fags Freferad §-

qra - 31.3.2012 31.3.2013
o 5. ¥
379 it | 1000000  11,00,000
RB-9T | 500,000 - 3,00,000
RIS ISER! 2,00,000 2,00,000
aHMEE A EE 1,10,000 1,90,000
IH % AT A=A 40,000 1,10,000
IE AR 50,000 40000
Ty il % forg TRl 20,000 30,000
< fau 30,000 -, 24000
. 19,50,000 19,94,000
wmtaar o 31.3.2012 . . 31.3.2013
. L. Rs. | Rs.
efd '_ 50,000 4 40,000 ~
CiCRCACE I 4,20,000 N 6,60,000
e qE wE 6,00,000 "7  8,00,000
i @ 2,50,000 \ 7 . 2,10,000
SRR 3.00,000 | 2,40,000
TS - 3,00:000 | 24,000
- fafau=a 30,000 20,000
T 19,50,000 © 19,94,000
AfaRE |

HITE - L |
(1) . ¥ § Hi. U W feel e 7,500 %, (TRIT B
o=l 2,500%,) e, 3,000 HAFA f
Y(2) 319, 2013 W EAW 2% 9 T8 # 1,00,000 T. T
(3) 50,000 T SR IHA T
(4) 38 2012-13 ¥ fre g 71 R =il o 7T~

§ftr Td o 10,000 %., §9 T& AR 50,000 . |
mqﬂ%mamﬂqﬁmﬁamﬁ?ﬂ-a@mmﬂ@m
LT §-
(1) i goi # WReA i e |
(2) g ¥ e wd S e T
The following data relate to a manufacturing company:

Sales 8,000 units @ Rs. 10 - . R
Variable expenses 4000
Contribution __‘_16,000
Fixed expenses 52000
Loss 000

® What sales are needed to break-down?
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\WHat is meant by dividend policy? Examine the

(11) What sales are necessary to result in a net income of Rs.
9,000 the corporate income tax rate being 50%7? "

(i1i) What should be the selling price per unit if the break-even

. point should be brought down to 10,000 units? ,

(iv) What additional sales will be required to,cover an increase
of Rs. 6,000 in fixed cost.

frfafea wis T Pl e § =i E-

%
fosra 8,000 THEAI 10 %. - 80,000
qRadvic =4 | 7 '64,000

-~ SR " 16,000

" feg= : T 24,000

Vet "8.000

i)  an-fadwiy R e 9 srawEea 2

D) 9,000 PRk I i ¥g e fat ST B,

I7E £ I Tt W 50 Ufava &1 2

i) giog e fe e Em, aﬁm—ﬁ%%ﬁl——g 10,000

SRl 9% ol 9 ?

iy e 6,000 7. 3 g 5 fere et ifettes fosra 9

STl 811 ? .
Or

-

various factors -

+ %\ determining the sound dividend policy of a business enterprise.

ST i Q S T SN € ? T A eI SIRH Bl Y5e
St Af S T O Jiel e o fadre shifsd |
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